SHNTEERERKESEERIDNRFELHR TR =45
THTE10A268 (1) EBAREE -
N EHA EF A =4 | Z2F | B | 8§25 B
’ BFREHEMER [IWE XH BEA 14 [BE 0 2360 1
X FHFEMER [EH & BEXR | 2%F | 4#% | 2420[ 1
1 SE A |mmAE 2% | % | 2505] 3
2 L¥ Z4g F 14 | B | 253.00 1
JBEFEHEMER (IO 2 BER 24F | #)E% | 2505] 2
ol 4 HE8 /\E BER 24 | 3#k | 2365 5
5 2E % | eAEE [ 14 | ZE | 2420 4
1 INE FI5 e AN B L 14 | X | 253.0 2
QX FEHEMER (\H tiE Kz 24 | 1%k | 2465 3
3 ?Zjl: ZEE 14 | #0E% | 255.0] 1
& =2 - 24 4%k
1 = JL—T /L 246.5 1
3 e FmEaER ’f* AE 14 | Sib
2 =] "‘*A fiEn fta 14 | 64k 2455 2
;Ei %_4 14 | 64% '
7 & = 15 | — BB
1 EJ” ?;; IL—TIL TE G 2470 3
o= EH Uil R 24 | T
. 1B FEHEER %QE%?E& Kz 22 _;fg 2480 2
2 14
- ik 4= R 2% | ZE%
1| ZFEBEER BE PE Kig & o] 2490 !




